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Que.1
( a ) Define Hyper Geometric Distribution and write it’s main properties. (6)
(b) Fifty percent of Mangoes are sweet in a lot. Find the probability that (4)

the first sweet Mango will be obtained when the 4" Mango is tested.

(a) The probability of getting head when a coin is tossed is 0.5. Find the (5)
probability that a person will get 5 head at the 10" trial.

0.R
(a ) Define Negative Binomial Distribution and write it's main properties. (6)

( b)) The probability that Kholi can hit a six on any ball is 0.25. Find the (4)
probability that he will hit first six on the six ball.

(¢ )There are 12 Baleno and 8 swift cars with a company. From them 5 cars are in (5)
repair in a workshop. Find the probabilities that of these cars there are
(1)3Balenos and 2 swifts car (2) all the cars of same type.

Que.2
(a) Explain: 1.8addle point ~ 2. Principle of Dominance 6)
(b) The payoff matrix of two players is given below. Decide the best (9)
strategy for both player and also find value of Game.
Player B
-2 ~15 -2
(1) Player A= [7 6 9
-5 0 6
Player B
-4 6 3
(2) Player A= [ -3 -3 4}
2 -3 4
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(a) What is mean by Sequencing? Explain in detail.
(b )in a company, there are five jobs to perform, each of which should

O.R

(6)
(9)

go through two machines A and B, in the order A and B. The processing
timings ( in hours) for the job are given below. Determine the sequence
of performing jobs to minimize total elapsed time . Also find total time

and elapsed time for machine A and B.

Machine Processing Time ( In hours)
jobs |1 2 3 4 5
A 10 2 18 6 20
B 4 12 14 16 18
Que.3
(a)Find G.F.R, S.F.R AND T.F.R for the following informations:
Age 16-19 | 20-24 | 25-29 | 30-34 35-39 | 40-44 45-49
| (In years)
No. of 20000 | 18000 | 16000 | 13000 9000 | 6000 5000
females '
Total no. | 750 2000 | 1850 | 1050 550 65 25
of live
births

( b )From the following data of two cities which city may be regarded

healthier:

Age City A Deaths of City B Deaths
2 city A _ of city B

(In Population Population
Years)
0-15 2000 60 2500 75
15-30 2500 20 3600 25
30-50 5600 56 125000 125
More 1900 95 1400 70
than 50

®

(6)

(9)
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O.R

(a)Explain C.D.R, S.D.Rand Infant Mortality rate in reference to Demographic Methods.(6)

( b )From the following data of two cities which city may be regarded

healthier:
Age City A Death per City B Death per
: thousand of } thousand of
(In | Population . Population ¥
city A city B
Years) (standard
clty)

0-6 10,000 70 4000 70

6-20 15,000 12 9000 9
20-40 30,000 4 40,000 6
40-60 25,000 36 45,000 33
More 5000 130 6000 167

than 60

Que.4

(a) Explain Producer’s risk and Consumer risk in reference to Product Control

Techniques.

(b ) For a single sampling plan ( 50,12,1 ) find Producer risk and Consumer risk if

AQL=0.04 and LTPD= 0.08.

(a) Which plan is better in reference to cost ?

OR

Number Plan Pa

1 (1000,100,2) 0.79
2 1 (2000,300,3) -0.83
3 (3000,500,4) 0.26

( b) For a single sampling plan (1000,50,1 ) find Producer risk if AQL=0.04

.__>(_——

®

( e2=0.13534)

9

(6)

@)

(6)

9)
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Que.1 X
(a) uclopllde @Aceuwll carval sl Aot yuat ol wguel. (6)

(b)3s er2aut Wl 50% B8 14l B, Well Bl aAtueuni A RUR yaAH 34 4 Hd Aol (4)
deteloll Anell,

() watd Rsil GOt A @k oy usciall dctdol 0.5 B. cubad ednl Yl (5)

wizedl R s 1d Aell deudst AAA.,

wel
(@) 3l Buél Ryl cenvat unll Aot yvat ol weuAl. (6)
(b) Necll AY ugL eni 83 U Aoll deuclst 0.25 B. o6l et 1 YU AR (4)

9200 H(2 Aoll detictoll AL |

(c) 35 sucll W 12 (A wa 8 2ellge 512 B, Auiell 5 512 abalu di AL wE B, A (5)
(1) 3 6@l w2 llge 512 A (2 ) oielley 512 Asy YsRell & Aofl deuctoll L.
Que.2

(a) wondl: 1, vetwel @ 2. WS ol Rotilet 6)

(b) A AR HBA ez ABLS ol A B. A AU U2 Ane c2fe otsél s (9)
A ol Bt ugL A,

Aeuél B
-2 =15 -2
(1) WNasl A= [ 7 6 9 ]
-5 0 6
neusl B

-4 6 3
(2) Wasl A= [—3 -3 4]
2 -3 4
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(b) 9 suollui uiu il s2eloll DI B AN A UAB UR AR B 54U
gaclloll B, stell el WARDL A ( seusi) oA wllet B, otcrieioll wH vsIHl

wdcll
“(a) sHdl A2 Y7 @rdRyds uumdl.

(6)
(9)

© 206 At A Ml 53 ANl 5ol WHE AR A A A B HEA sicRelel uH Aadl.,

2ol _ NARDL uH ( seUsHl)
gal (1 2 3 5

A 0 |2 18 6 20

B 4 12 14 16 18
Que.3
(a)elleoll WRA WR G.FR,SF.R v T.FR Al
G () 1519 | 20-24 | 25-20 | 30-34 | 35-39 | 40-44 | 45-49
allallell vl 20000 | 18000 | 16000 | 13000 |9000 | 6000 | 5000
speldl 226 750 | 2000 | 1850 | 1050 | 550 65 25
ol Sloll 2vall

(b) o2 wdell A 23 ol Rl wzell oisél 521 3 53 232 R ol axlA

B 8?7
Gur MR A Ak A A2 B A% B
(axdui) aRdl 32 adl 0y

| 0-15 2000 60 2500 75
15-30 2500 20 3600 25
30-50 5600 56 125000 125
- 50 ¢l 1900 95 1400 70
-

(6)

9)
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Al

(a) il @Quats dAcllott el i C.D.R, S.D.R ol 6lLAL HRIER UHMCA (6)
(b) o el A 22A ol WRA uell sl s Y 52 21d2 Ao ol R (@)
Al B? :

GuR WA A2 A W2 Baadl | y20 B ol
(axni) axdl HER (Y@t YRYER
AR )

0-6 | 10,000 70 4000 70
6-20 15,000 12 9000 9
20-40 30,000 4 40,000 6
40-60 25,000 36 45,000 33

60 ol ay 5000 | 130 6000 167

Que.4
(a) xellgll Reslot olt Aeelil GAUlESo] AWM vial YL&5a] A Antstell. (6)
(b)As @eglol Aol (50,12,1) M2 % AQL=0.04 sl LTPD=0.08 &l cll ©)

GeulE o] WM 2l e8] Slui NEL.

wAUdl
(a) ATl ol Hecell wal ofl sl 520l 1ettel WRL? (6)
51 ol Pa
1 (1000,100,2) 0.79
2 (2000,300,3) 0.83
3 (3000,500,4) 0.26
(b) As Reslot Nogoll (1000,60,1 ) W ¥ AQL=0.04 8l cl Geutese] v el 9)
( e2=0.13534)
—_— —







